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UGC NET PAPER 2 NOVEMBER 05, 2017 SHIFT 1 YOGA QUESTION PAPER

Note : This paper contains fifty (50) objective type questions of two (2) marks each. All questions
are compulsory.

1.  “Samatvam Yoga Uchyate” is described in which verse of Bhagvadgeeta ?
(1) 3/48 (2) 2/50 (3) 3/50 (4) 2/48

2.  Propounder of Samkhya Darshan is :
(1) Gautam (2) Kapila (3) Kanada (4) Jaimini

3.  According to Patanjali, the Karma of a yogi is of which type ?

(1) Shukla (2) Krishna (3)  Ashuklakrishna (4) Shuklakrishna
4. How many principal Nadis are mentioned in Kathopanishad ?
(1) 100 (2) 101 (3) 110 4) 111

5.  Which one of the following Asanas not mentioned in Shiva Samhita ?
(1) Padmasana (2) Ugrasana

(3) Swastikasana (4) Bhadrasana

6. According to Hatha Ratnavali, the Chittavrittinirodha is called as :

(1) Yoga (2) Raja Yoga (3) Hatha Yoga (4) Maha Yoga
7. The recommended daily dose of protein, for an adult is :
(1) 2 gm/kg body weight (2) 1 gm/kg body weight

(3) 0.5 gm/kg body weight (4) 1.5 gm/kg body weight
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Which structure of the living cell is called as “Suicidal Bag” ?
(1) Centrosome (2) Ribosome

(3) Lysosome (4) Golgi Apparatus

Concept of Panchakosha is mentioned in :
(I) Chhandogya Upanishad (2) Taittiriya Upanishad

(3) Mandukya Upanishad (4) Mundaka Upanishad

Psychology is the scientific study of :

(1) Soul

(2) Mind

(3) Human Behaviour and mental processes

(4) Consciousness

According to Ayurveda, the three pillars of life are :
(1) Vata, Pitta, Kapha (2) Satva, Rajas, Tamas

(3) Dharma, Artha, Kama (4) Ahara, Nidra, Brahmacharya

The aim of yoga education focuses on :
(1) knowledge only (2) strength only

(3)  social relationship only (4) allround development

Which statement is true for Kapalabhati ?
(1) Inspiration is Active (2) Expiration is Passive

(3) Inspiration is Passive (4) Inspiration and expiration are Active
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The method of Samadhi Siddhi according to Maharshi Patanjali :

(a) Pranayama (b) Ishwar Pranidhana
(c) Abhyas-Vairagya (d) Pratyahara

Find the correct combination according to the code :

Code :

(1) (a) and (d) are correct (2) (b) and (c) are correct
(3) (b) and (d) are correct (4) (c) and (d) are correct

In which of the following seasons the practice of yoga should be started by new
practitioners ?

(a) Hemanta (b) Sharada

(c) Shishira (d) Vasanta

Find the correct combination according to the code :

Code :

(1) (c) and (d) are correct (2) (a) and (b) are correct
(3) (a) and (c) are correct (4) (b) and (d) are correct

Types of Kumbhaka mentioned in Hatha Ratnavali are :

(a) Bhastrika, Bhramari (b) Kewal, Bhujangikaran
(c)  Murccha, Plavani (d) Seetkari, Sheetali

Find the correct combination according to the code :

Code :

(1) (a), (b) and (c) are correct (2) (b), (c) and (d) are correct
(3) (a), (b) and (d) are correct (4) (a), (c) and (d) are correct

Which of the following vitamins are Fat soluble ?

(a) Vitamin A (b) Vitamin B
(c) Vitamin C (d) Vitamin D
Find the correct combination according to the code :
Code :

(1) (b)and () (2) () and ()

(3) (a) and (b) (4) (b and (d)
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For Kapha prakriti individuals, which of the following types of foods are beneficial :

(a) Unctuous (b) Light

() Dry (d) Heavy

Find the correct combination according to the code :

Code :

(1) (a) and (b) are correct (2) (b) and (c) are correct
(3) (a) and (d) are correct (4) (c) and (d) are correct

According to Hatha pradeepika, which food items are apathya for a Yoga Practitioner :

(@) Curd (b) Milk

(c) Butter Milk (d) Butter
Find the correct combination according to the code :
Code :

(1) (@) and (0 (2)  (a) and (d)
(3) (9 and () (4) (b)and (d)

The purificatory methods not beneficial for Eye problems are :

(a) Trataka (b) Basti

() Neti (d) Nauli

Find the correct combination according to the code :

Code :

(1) (a) and (d) are correct (2) (b) and (d) are correct
(3) (a) and (c) are correct (4) (b) and (c) are correct

Gomukhasana is mostly beneficial in :

(a) Eye disorder (b) Lung diseases

(c)  Skin disorders (d) Backache

Find the correct combination according to the code :

Code :

(1) (a) and (b) are correct (2) (a) and (c) are correct

(3) (b) and (d) are correct (4) (c) and (d) are correct
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Asanas contraindicated in Cervical Spondylosis are :
(a) Makarasana (b) Bhujangasana
(c) Shashankasana (d) Padahastasana

Find the correct combination according to the code :

Code :
(1) (a) and (c) are correct (2) (c) and (d) are correct
(3) (a) and (b) are correct (4) (b) and (c) are correct

Diseases caused due to stress are :

(a) Headache (b) Hypertension (c) Diabetes (d) Autism
Find the correct combination according to the code :

Code :

(1) (a), (b) and (c) are correct

(2) (a), (b) and (d) are correct

(3) (b), (c) and (d) are correct

(4) (a) and (d) are correct

Dhanurasana is contraindicated in :

(a) Hypertension (b) Constipation
(c) Abdominal obesity (d) Hernia

Find the correct combination according to the code :

Code :

(1) (b) and (c) are correct

(2) (a) and (d) are correct
(3) (c) and (d) are correct
(4) (a) and (b) are correct
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Yogic practices :

(a) involve slow and steady exercises

(b) lead to fatigue

(c) lead to peace of mind

(d) involve vigorous exercises

Find the correct combination according to the code :
Code :

(1) (a) and (c) are correct

(2) (b) and (d) are correct

(3) (c) and (d) are correct

(4) (a) and (d) are correct

Given below are two statements, labelled as Assertion (A), and a Reason (R). Indicate your
answer from the alternatives below :

Assertion (A) : Kriya Yoga reduces afflictions and leads to samadhi.

Reason (R) : Tapa, swadhyaya and Ishwar pranidhana are the powerful tools of kriya
yoga to achieve the samadhi.

In the context of above two statements, which one of the following is correct ?
(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(3) (A) is true, but (R) is false.

(4) (A) is false, but (R) is true.

Guide
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Given below are two statements, labelled as Assertion (A), and a Reason (R). Indicate your
answer from the alternatives below :

Assertion (A) : Bandhas are the powerful tools of yoga.
Reason (R) : Bandhas are used along with the practice of pranayama to get blissfulness.

In the context of above two statements, which one of the following is correct ?

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(3) (A) is true, but (R) is false.

(4) (A) is false, but (R) is true.

Given below are two statements, labelled as Assertion (A), and a Reason (R). Indicate your
answer from the alternatives below :

Assertion (A) : Minerals are micronutrients.

Reason (R) : Minerals are essential for nutrition although they are required in small
amounts.

In the context of above two statements, which one of the following is correct ?
(1) Both (A) and (R) are true and (R) is not the correct explanation of (A).
(2) Both (A) and (R) are true, but (R) is the correct explanation of (A).
(3) (A) is true, but (R) is false.
4)

4) (A) is false, but (R) is true.

Given below are two statements, labelled as Assertion (A), and a Reason (R). Indicate your
answer from the alternatives below :

Assertion (A) : Antarayas are obstacles in yoga sadhana.

Reason (R) : Dukha, Daurmanasya, Angamejayatva, shvasa and Prashvasa cause
distraction of chitta.

In the context of above two statements, which one of the following is correct ?
(1) Both (A) and (R) are true and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(3) (A) is true, but (R) is false.
(4)

4) (A) is false, but (R) is true.
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Given below are two statements, labelled as Assertion (A), and a Reason (R) . Indicate your
answer from the alternatives below :

Assertion (A) : Management of diseases by the application of yogic methods is known as
yoga therapy.

Reasong (R) :  Yoga therapy is preventive, curative as well as rehabilitative.

In the context of above two statements, which one of the following is correct ?

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(3) (A) is true, but (R) is false.

(4) (A) is false, but (R) is true.

Given below are two statements, labelled as Assertion (A), and a Reason (R). Indicate your
answer from the alternatives below :

Assertion (A) : Tadasana increases the height of children.

Reason (R) : Tadasana stretches the muscles, ligaments and entire spine, thus helps to
increase the height.

In the context of above two statements, which one of the following is correct ?

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(3) (A) is true, but (R) is false.

(4) (A) is false, but (R) is true.

Given below are two statements, labelled as Assertion (A), and a Reason (R). Indicate your
answer from the alternatives below :

Assertion (A) : The best time to do yogic Practices is Brahmamuhurta.

Reason (R) : At the time of Brahmamuhurta, atmosphere is pure and quiet, and mind
has no deep impressions on the conscious level.

In the context of above two statements, which one of the following is correct ?
(1) Both (A) and (R) are true and (R) is the correct explanation of (A).
A) is true, but (R) is false.

)
2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
)
4)

(
3 (
@ (

A) is false, but (R) is true.
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Arrange the following in sequential order, according to their origin, as described in
Taittiriyopanishad :

(a) Purusha (b) Anna (c) Prithvi (d) Aushadhi
Use the code given below for correct answer :

Code :

According to yogavashistha, arrange the following stages of Gyana in sequential order :
(a) Sattvapatti (b) Vicharana (c) Shubhecchha (d) Tanumanasa

Use the code given below for correct answer :

Code :
1 (), (@), (d), () (2)  (0), (b), (d), (a)
@) (b), (0), (d), (a) 4)  (a), (d), (b), (9)

Arrange the following types of samprajnata samadhi in sequential order :
(a) Vicharanugata (b) Asmitanugata (c) Vitarkanugata (d) Anandanugata
Use the code given below for correct answer :

Code :



www.prepp.in

33.

34.

Your Personal Exams Guide

dfeRiafag # 3feafad 37 3q9a & STER Ffated 1 3fed %A H Fafead &

(a) & (b) e (0 et (d)  effe
& I & fou Fafafaad Fe w1 3w &
<

(a) Heamafd (b) fe=mon () guI= (d) A
el I o fau Fefafead s o1 39 =1

< :

1) (b), (@), (d), (¢) (2)  (0), (b), (d), (a)

3) (b), (0), (d), (@) 4) (a), (d), (b), (¢

. T gErty o frefafea gl o sfud e o safeed =

(a) fo=mgma (b) AT (c) faderigma (d) SAHSET
e I o fau FeAfafead we o 39 1



www.prepp.in

36.

Your Personal Exams Guide

| Exams Guid

Arrange the following stages of Nadanusandhana in a sequential order :
(a) Arambhavastha (b) Parichayavastha
(c) Nishpatti avastha (d) Ghatavastha

Use the code given below for correct answer :

Code :
1) (@), (b), (), (d) (2) (@), (b), (d), (9
3) (@), (d), (b), (9) 4) (b), (), (d), (9)

According to Gheranda Sambhita, arrange the following practices in sequential order :
(a) Mudra (b) Asana (c) Pratyahara (d) Pranayama

Use the code given below for correct answer :

Code :
1 (), (@), (), (d) (2)  (a), (b), (c), (d)
@) (a), (b), (d), (9) 4 (b), (a), (d), (9

Arrange the following seasons in sequential order, starting from winter :
(a) Summer (b) Winter

() Rainy (d) Spring

() Autumn

Use the code given below for correct answer :

Code :
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Match the List - I with List - IT and select the correct answer using the code given below :

List - I List - II
(a) Hatha pradipika (i) Swami Dayanand
(b) Satyarthaprakash (i) Shrinivas
() Hatharatnavali (i) Gorakshnath

(d) Siddhasiddhantapaddhati (iv) Svatmaram

Code :

G @) @ @ ()
@) @Gv) @) (@) ()

Match the List - I with List - IT and select the correct answer using the code given below :

List - I List - II
(a) Swami Vivekanand (i) Transcendental Meditation
(b)  Sri Aurobindo (i) Vipassana

(c) Maharshi Mahesh Yogi (iii) Neo-Vedanta

(d) Lord Buddha (iv) Integral Yoga

@@ (b) () (d)
1 O @) @) (@)
(2) @@ @) (@) @

4) (i) () (@) (@)
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41. Match the List - I with List - IT and select the correct answer using the code given below :

List - I List - II
(a) Vasana Hetu (i) Janma, Ayu, Bhoga
(b) Vasana Phala (i) Klesh, Karma
(c) Vasana Ashraya (iii) Vishaya
(d) Vasana Alamban (iv) Chitta
Code :

42. Match the List - I with List - IT and select the correct answer using the code given below :

List - I List - II
(a) Varisara Dhauti (i) Hrid Dhauti
(b) Vastra Dhauti (i) Jatharagni
() Nauli (i) Large intestine
(d) Bastikriya (iv) Antar Dhauti
Code :

@@ (b) (9 (d)
® @ Gv) @) ()
2 @ @) @ ()
() @v) @) (@) @
(4) (@v) (@) @G) (i)
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43. Match the List - I with List - IT and select the correct answer using the code given below :

List - 1 List - II
(Chakra) (Place)
(a) Swadhishthana (i)  Region of Heart
(b) Manipura () Throat Region
(c) Vishuddha (i) Between Eyebrows
(d) Anahata (iv) Navel Region
(€) Ajna (v)  Root of Genital organs
Code :
@ () () (d (e
O ) @ O @ G
@ 6 @ @) (i
@) O ) @) @
@ © (v @ O )

44. Match the List - I with List - IT and select the correct answer using the code given below :

List - I List - II
(a) Sweet Taste (i) Decreases Vata
(b) Sour Taste (i) Decreases Pitta and Kapha
(c) Pungent Taste (i) Decreases Vata and Pitta
(d) Astringent Taste (iv) Decreases Kapha
Code
@ () (9 (d)
1) @) G @ (v)
@ @) @ (@v) (i)
®) O G @) (v)
@) @ (@v) @) (i)
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45. Match the List - I with List - IT and select the correct answer using the code given below :

List - I List - II
(a) Pawan muktasana (i) In Prone Position
(b) Pashchimottanasana (i) In Sitting Position
(c) Bhujangasana (iii) In Standing Position
(d) Katichakrasana (iv) In supine position
Code :

@ () (9 (4
1 @ @) (v) (i)
@ G @) @ ()
G) Gv) @@ @ ()
@) Gv) (@) @) ()

Read the following paragraph carefully and answer the five questions (Question No. 46 to 50) :

Pranayama is the fourth step of Ashtanga Yoga. The word ‘Pranayama’ consists of two
components, prana and ayama. “Prana” means energy, the self-energizing force of life and
consciousness. It is the creator of all beings in the universe. ‘Ayama’ means stretch, expansion
and regulation. When the self-energizing force embraces the body with expansion and regulation,
itis called as pranayama. Itis the regulation of incoming and outgoing flow of breath with retention,
in a rhythmic pattern. It should be practised after attaining perfection in asana. Out of total four
types of Pranayama, first three types are regulated inhalation (abhyantaravritti), regulated
exhalation (bahyavritti) and retention (stambhavritti). These components of pranayama are to be
performed and prolonged according to the capacity of individuals. These three types are sabeeja
pranayama, as attention is on the breath itself during their practice. The fourth pranayama goes
beyond the regulation of breathflow and retention. It transcends the range of movements, appears
effortless and non-deliberate, thus called as nirbeeja pranayama. Pranayama removes the coverings
over light of knowledge and allows the inner light of wisdom to shine. By the practice of Pranayama,
mind also becomes fit for concentration (dharana). Pranayama, an important component of
bahiranga yoga, is not only a method to steady the mind, but it is also the gateway to dharana.
The step of yoga next to pranayama is pratyahara.

46. The word “Ayama” means :

(1) Variety (2) Regulation (3) Dimension (4) Measurement
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Pranayama is advised to be practiced :
(1) Dbefore shat karma (2)

(3) after perfection in asana (4)

The fourth type of Pranayama is called :

(1) Nirbeeja (2) Sabeeja

Pranayama is the gateway to :
(1) Asana (2)

(3) Bahiranga Yoga 4)

The fourth step of Ashtanga yoga is :

(1) Pratyahara (2) Asana

before perfection in asana

Your Personal Exams
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after perfection in pratyahara

(3) Bahyavritti 4)

Yama and Niyama

Dharana

(3) Pranayama 4)

-000-

Abhyantarvritti

Dharana
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